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Research Entrance Test-2017

No. of Questions : 50
WyAl @ 5 : 50

Time : 2 Hours Full Marks : 200

9T : 2 gUe qoTlE : 200

Note: (1)

(2)

(3)

This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.

=6 g gRAH ¥ 40 TGRE 9 10 @Y IxE HH €|

Attempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 (One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.

A e Uedl & B HLA B G B | T
usq 3 () it & B e Ted Ia] & 60 1
ﬁ)mﬁﬂaﬁ‘ﬂlﬂﬁfﬁ@@ﬁﬁﬁﬂﬂqiﬁlmﬂﬁ
| afg > 9wl & W IS SY dol Snl? &
Fepe udia &1, a1 Mesean 9o 3 ¢ |

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.

dae 5 (d4r9) TgIEid U 3 Ia & ) TAE 999 16 (HIEE)
STl # B qer I Sw} 150-200 SEf & &= B A6 |
=% foe g8 it # @@ gm @R 5 (Wa) gi & & I
AT & | 99F W97 H I UF AU g H, 09T HeAT fowary
SIE HL

3 P.T.O
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01.

02.

03.

04.

Who wrote Svapnavasavadattam ?

(1) Kalidasa (2) Bhasa
(3) Banabhatta (4) Jayadev
Ll IS GO b M BT A B

1) SRRl (2) A

(3) drTHEE (4) TH2g

Who was the founder of Satyashodhak Samaj ?

(1) Atmaram Pandurang (2) Jyvotiba Phule
13} Mahadev Govind Ranade (4) Avyankal

TNy ETST et gAr B # off ?

(1) STHEM 97T (2) wHferET He

(3) WERT Tiaw e (4) AT

Who discovered the caves of Bhimbetka ?

(1} Paramananda Acharva (2] V.D. Krishnaswami
(3} Rajendra Prasad Das (4) V.S. Wakankar
W= SremeEt @ =T Bhee # oo ?

(1) TE T (2) .21, FEmEE
(3) U= H9rE a9 (4) d1.09. GIERIERT

Umakant and Ramakant Gundecha Brothers are associated with :

{11 Dhrupac (2] Kathak
(3} Sarod (4} Tabla
(1) g7 (2) &Y%
(3) #A= (4) o
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05.

06.

o07.

08.

Who among the following is NOT a winner of Nobel Prize in
Literature ?

(1) Kazuo Ishiguro (2) Bob Dylan

(3) Rabindranath Tagore (4) Ruskin Bond
sfafad § @ @ afed § Aew @R o T8 e
(1) @] SRA (2) & e

(3) VAT R (4) WA d==

In which State of India is Lomus Rishi cave situated ?

(1) Uttarakhand (2) Maharashtra

(3) Madhya Pradesh (4) Bihar

e Y F T e @ e o § Rad 7

(1) IETES (2) HET=E

(3) W WasT (4) T&ET

Which of the following languages is NOT declared by Government of

India as Classical Language of India ?

(1) Tamil (2) Oria

(3) Kannada (4) Bengali

Prfufgd § @ WRT & FHE AT & WG GR &1 e
qTT 1 AT gr ASl & 7

(1) afs (2) sfear

(3) &S (4) Sl

To whom does the Speaker of the Loksabha submit his/her
resignation ?

(1) The Prime Minister (2) The Deputy Speaker
(3) The President (4) The Vice President
Arpasr aTegaEr ST SnTaH fRd AT © 7

(1) 999 =31 (2) TEEHAT IUTEAH

(3) TrsEdfd (4) I

5 P.T.O.
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09.

10.

11,

Who has been appointed as Chairman of the Committee assigned to
prepare the final draft of the National Education Policy in 2017 2

(1) Ram Shanker Kureel

(2] Krishnawamy Kasturirangan

(3} T.V. Kattimani

(4)  Manjul Bhargava

Wfﬁmﬂgﬁiﬁ 2017 T AQIET d9X & & fow nfeg 7y 3

FHEHET

(1) = T e (2) FomEn FGIEE
131'1311:-1 I

(3) @1 91, g (4)

Who 1s the author of 'Dast e Saba' ?

(1} Sahir Ludhivanvi (2) Faiz Ahmed Faiz
(2] Muhammad Igbal (4] Ziauddin Barani
(1) @it giemardt (2) 9T 3TEHSE Wl
(3) YeRIE e (4) Toargad= g

Which of the following statement is not true ?

(1} If domain of a function is countable, then its range is also
countable.

(2} The set of all real numbers IR is a counteble set.

{3) The set of all rational numbers Q 1s a countable set.

(4)  The familv of all finite subsets of a countable set 1s conntable

a3 | e |9 T8l © 7

(1) aﬁ?ﬂﬁﬁwwmmﬁﬂﬁ,ﬁmﬁﬂ(ﬁmﬁm
s |

(2) EHE grEias @A R H AT TOHE E

(3) TEET 9 s Q W HYTHA TUHE 2 |

(4 e oA a@ged & @9 ot suayEEl wr ageE ol
T
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12.

13.

14.

Let f : IR —» IR be a function such that f (f(x)) = - x for all x ¢ IR Then
(1) fis 1-1 but not onto.

(2) f{is onto but not 1-1.

(3) fis both 1-1 and onto.

(4) f need not be either 1-1 or onto.

A (R — IR U 06T 60 & B f(fx) = - x 8 x ¢ R & ¢ &9
(1) f T B, UIx] SEBES 6 |

(2) f SMEBEH 8, L] ThiHl el |

(3) f U qUT AEHES 8 |

(4) OE d TE % [ STesTEsd AT T el |

Let G be a finite group and p be a prime number. The number of p-
svlow subgroups of G is of the form :

HE G U oRfG HYE § aW1 P U Sifawed €@ewm w1 p- Hell
IUUTLiHE wYEl @1 | S ' B

(1) 1+np (2) n-p
(3) np-1 (4) n+p’

A Group G of order 35 :

{1) is abelian but not cyclic (2) is cyclic

(3) is non- abelian (4) does not exist
TP 35 SATSY F URAT THE -

(1) arEfeas & uY asfas T8l

(2) WEEES ©

(3) ™ ST #

4) Ha T ©

7 P.LO,
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15.

16.

17.

If p is a prime number, then the splitting field over the field of rational
numbers, of the polynomial x*-1 is of degree :

ai% PU NG G ¥, al afEa dEe A O S 9gue
xi-1 % fgwiremn &= & 3l &l

(1) p+1 (2) 2p+1

3l p 4) p-1

Which of the following is correct ?
{1] There is a field of 35 elements.
(2]  There is a field of 48 elements.

(3) There is a field of 64 elements.
(4} There is a field of 80 elements

frer § | HF-A1 H2T FWEl 8 7

(1) Uek 07 &= & Brad & 35 798 2
(2) ek UEn e B fred @ 48 @Ee ©
(3) Uk TEl A= B B B 64 HIE €
(4) we oor &= B fEE {80 WEHA

Let A and B be n x n matrices such that BA + B2 =1 - BA? , where 1 1s
the n * n identity matrix. Which of the following is always true ?

(1) A is non-singular. (2) B 1s non-singular.
(3] A + B is non-singular. (4) AB is non-singular.

OTAT A T B nxn 378 B AT BA+ B =1-BA°, S8l [ nx n a9

yrege ¢ Fre | @ R we B 7

(1) AYeFaofig ¢ | (2) B 2 |
(3) A+ B AT 2 | (4) AB BT 2 |
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18.

19.

20.

Let M_ (K) denote the vector space of all n *x n matrices with entries in
the field K. Fix a matrix A = (z;) € M_ (K) and consider the linear map
T: M, (K) » M, (K) given by

T(X) = AX

Then

AT fF M (K) %Kﬁuﬁﬁﬁﬁgﬁﬂaﬂnxna@éaﬁmﬁ
A1 R F3dT B 1 OF SNE A = (@) M, (K) P ez &Y, qen aw
HERE T:M_(K) - M, (K) 3 T(x) = AX f fRgr =iar &, 97 fa=m &7 |
3 = I

(1) Trace (T)=n 2% (2) Trace (T) = E}: Zlfrij
i=1 1= I=

(3) Rank (T) = n? (4) Tis non-singular

Let V be a finite dimensional vector space over IR. Let T V-o>Vbea
linear transformation such that rank (T) = rank (T7). Then which of
the following is not correct ?

are BF R 97 Vo aftfra fade afde gt g a9 T Vo V U
Ve WA B e AR (1) = St (1) 8 J| P ¥ | e e
qel & 7

{1) Kernel (T = Kernel (T) (2) Range (T?) = Range (T)

13) Kernel (T) N Kernel (T?) = {0} (4) Range (T) (1 Kernel (T} = {0

Let X be a metric space and f : X — IR is a continuous function. Le!

G = {(x, f(x)) : x eX} be the graph of f,

Then :
(1) G is homeomorphic to X x IR. (2) G is homeomorphic to IR * X.
(3) G is homeomaorphic to IR (4) G is homeomeorphic to X,

9 P.T.O.
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21.

22.

23.

A1 % X U HIFE @HIE B 99T (X - [RUH 9ad S & | JF
G = !x, f(x)) : x X} {367 W@ &1 & ¢

(1) Gasm X«R g9ad 81 (2) Gaur Rx X @989 ¥
(3] Gaa R G E | (4) G X TEET S

Let X = {a, b, ¢} . Then which of the following classes of subsets of X 1s
4 topology on X 7

AT X = {a, b, ¢}, da Fr=fefad § & @4 X Igag=ad % fog xut
oF Al & 7

(1) ¢ lal, {by X (2) {¢.{a} b}, {c}, fa,by, X}
(3] i¢.a), {a.bj, X | (4) {¢,labl b}, X|
Everv finite Hausdortf 1s :

(1) a discrete space [2) an indiscrete space
{3} notaT, - spacc (4} notaT, - space

(1) u®h g gHie (2) uw fafem qufe
(3] T, AHiE T8 (4) T, 7\ qEl

Let M denote the family of all Lebesgue measurable subscts of IR,
Which of the followings is not true ?

(1) ALA,e M= A UA e M
(2) A A, eM=A NA,eM

(3} If the Lebesgue out measure of a subscet A of [ 15 ZC10, then

Ae M.

f o ".I Ll
4] 1 A_ ¢ M for each ne [y, then m| u‘l-'h |Tl’”ir'f”3, where m
' R r n=|

denotes the Lebesgue measure.

10



RET/17/TEST-B 904 /Mathematics [Arts)

24.

9 & M, R & &l A9 ARfae & daag=adl & g99e &
T e B o9 refetag § 4 9 99 A6 7

(1] A,A,e M= AA, M

(2) .&UA}EM_—;A;HA:EM

(3) =% fFfl R & STag=ad A X A aFHed A S E,
9 AeM

(4) L2114 AnE M% I%TU: mn EMN,dHd m(QIA"\:i_mEA“} Elg:f m
AT BT REEr B

Let X be a normed linear space consider the following statements.
[:IfX is a Banach space then {x ¢ X :|x|= 1} is complete.

II:1f x ¢ X: |x]= 1} is complete, then X is a Banach space.

Then :
(1) Both 1 and Il are true. (2} Neither | nor Il 1s true.
(3) Iis true but Il is false. (4) 1I1s true but | 1s false.

qH Wi X U A0 @i-a] W9 8 | Fefeiag aE 97 E@Em
g |

LAiE X & @89 8 a6 xe X: |x|=1 gt &1

LA x e X: [x|= 1390t B, &1 X &= €49 g |
(1) 1 aur I =1 981 &

(2) L@ § & 3 off 9dt 7 &)

(3) 1 & &, I o B

(4) 11 el &, 1 Tad 2|

11 P.T.O.
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L bi2

S N 2 = | .
25. Let I' = {a = {a,),5, ' 2, ¢ ¢ and *lZlEl“ r *i:a”;&. <@} and
= k=1 .

sup

" a= '[‘E‘LJ ki B e O k>! rah| < x|
Define a map T : [% -» [ as
: a, a, a,
1‘ a =14 '_-2._:'_1_-_ taneqsaananas
[ l L| 1* 2 22 23! }

g

Which of the following statements in true
i1} T is discontinuous linear map.

(2) T maps > anto £,

(3) T exists and is continuons.

(4} T is uniformal continuous.

ll-—.’!

4

CIEIED f:{'a=(ak} =|lall, <=} %

k>

T ?
a e ¢ and D la|
k=1

L sup .
H’-;a=[ak},‘2, ‘8, € C 137 la,] < o}

DefineamapT: [* - I as

a, a, a,

Tia)=1a,, E?? ............ }

o T 3UdE § ) ad Be-A1 %I el € 7
(1] T Wk 3rddd (fEd wed e
(2) T;‘ﬁﬂTFgﬁﬁﬂﬁaﬂ?&ﬁFﬁqﬁm%|

(3] T F A T aAT g8 @ad E |

=
E

(4} T TH HAET: Fdd € |

12
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26.

27.

28.

Let f: IR — IR be twice differentiable function, with f(0) =f(1)={"(0)
= 0. Then :

(1) f' is a zero function (2) £ {0)=0

(3) f (x) = 0 for some x € (0, 1) (4) f never vanishes

AT 5 f:IR » IR UF & A} Haqd: aha=g Had & ao
f{O)=1f(1)=1(0)=0 T@q :

(1) 9% o9 &

(2) f(0)=0

(3) FRHT x e (0,1) & faW f(x) =0

(@) f i g =& e

Let A be subsetof IR, A #¢, A » [Rand A is closed, then A 15
(1) the closure of interior of A (2) a countable set

(3) acompact set (4] not opoen
g?ﬂ RF A, IR%I T JTEYT B @91 A#4,A# RAA §T &, T A
(1) A idies H € &1 (2) U TOEE wE B
(3) UH Hed Y= ¢© | (4) faga =et 81
Let P> 1 then lim (l"'l""' ......... +—]'."W 15 *
A 1]:' 2]:' I]P).' ¥
AT 6 p> 1, g9 lim [i+l+ ......... +i] T .
p ! na=e | 1P 2P nf :
. S
0 1 @ i
3 — 1
B) 55 @ 3

13 P.T.O.
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= 1
29. The radius of convergence of the power series E R s
n=]

o

o i .
1A Srofy EFI 1 arfagor &= & o

=1
(1 1 2) 2
(3) 0 4) =

30. The residue of the function {%4_1}3 at z =-11is:

EJH
(Zap T2 =-1 H STEAY B
(1] ¢! | (2) 2¢?
(3) 2e° (4) 0

31. The real projective space IRP” 1s :
(1) orientable if n is even.
{2}  alwavs orientable,
(3} not orientable il n is even.

(4) alwavs non - orientable.
arefg® Frafked 79 IRP €
(1) sftuggs atE n @9 Bl

(2) EH9 eftu=ad

(3 afro=ee wél afs nog9 B
(4] BHIT AE-shii-dee

14
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32. Which one of the following statements is not correct ?
(1) Every smooth manifold satisfies the first axiom of countablity.
(2) Everv smooth manifold is locally connected.
(3) If a smooth manifold is Hausdorff, then it is locally compact.

(4) Every smooth manifold is para compact.

1 7 & i\ Tet T8t 8 7

(1) uedeh &y Afrhles AfedHEaT Be He<ad H O 2 |
(2) UEE BT AfBes @il I ¢ |

(3) af% uh wper Afeiee e@Esis & O g8 wihel FUAE 2
(4) wdE ey Afadies IO FHF B

33. Which of the following statements is not true ?
(1) The Lie bracket operation is IR - linear.
(2) The Lie bracket operation is not skew — symmetric.
(3) The Lie bracket operation satisfics the Jacobi identity.
(4) The Lie bracket operation satisfies
(X, g¥]=fg[X Y]+ (XgY-gnX

frr & & &9 @ Jdt & 7

(1) 7t e IRIEH B

(2) & she wg-fanfes T8 2

(3) «f JFe SR smERfedt F AR HET ¥
(4) ot e G FIA ©

(X, gY=fg[X Y]|+f(XgY-g(¥ )X

15 P.T.O.
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34. Supposef:D - T is of class C! on some open subset D of T". Then
f 1s holomorphic on D if and only if :

AT D 0 UF & COH B &, Tel D, o # s fagd
SqEYET B ad f, D § St avi Y daw adr e A

el

(1) —¢ =0, K=1,2, . .,
o Z

o Rk

i - B A
cE

5 & T N af -0 K=12

["'] Iﬂzl‘ fn__.-k - v - Py v . 11

4] L ] K=1,2

|: I:_'\!k _'I:Fk’ T4y yonarenan y T1

f ; E\.
35. For the Problem : Maximise LK{J- Xz") subject to x, + 2x, = 100, the
optimal value is :
i ) _
Tl & fau Sfigedan [_riu.x-? J fg org®d x + 2x = 100, F

st e ¥ -

1000 5 3
() 3 (2] 100

50 200)
3 5 @)~

16
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36.

37.

38.

x, 0=2x=1

1. [<xgg 199

The function f (x) = {

(1) Convex

(2} Quasi- convex

(3) Semi - strictly quasi convex
(4) All above are true

x, O0=x<1 _
T 1x) = {1; 1<x<2 ©°
(1) e (2) STHI-FHAE
(3) W Regesh wrdl-Fw=rea (4) SUdEd H @ @E@l

The partial differential equation

fxy,uyu+glxy vu=h(xyu 15 a !

(1) Linear equation | (2) Semi-linear equation
(3) Quasilinear equation {4) None of the above

Fr=t arifars sTasee gHeer B3 2

f{'}{, ¥, L]} u;+g[:{r ¥ u) u = h{X, ¥ Ll}

IUUET FHIERT E

(1) Ias FHFET (2) arEftas AR

(3) =FETHl IfEs T (4) IUUFS H HIZ AL
A solution of PDE

eu. au (euY (eu)
[ +| =~ | —=4=0 represents :

eX T8y \Ox) \dy)
(1) an ellipse in xyv - plane. (2) an ellipsoid in xyu space.
(3) a parabola in u - x plane. (4) a hyperbola in u -y plane.

17 P.T.O.
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39.

40.

ftogloto FH FHIYH &

(1) s xy GHa (@) 9x Sega

(2) TH xyu H TWE T HITRR

(3) TE - x wEaE (9F) # R (SaRes)

(4) Th u-y THEd (@) § fasdira (srurdn)

For an irrotational motion of a fluid, which of the following statements
1s alwavs true ?

[1) The vorticity vector is zero.

(2) The vorticity vector is non-zero.

(3) Divergence of velocity is non-zero.

{4} Divergence of velocity is zero.

29 &% ITEHE A & v e § 9 #i9 ewam 9w 7
(1) el et = B |

(2) &St ey g e B

(3} 7T 1 STEATHE A TE B

(4) T T SEIAE I E |

The complex potential of a uniform flow U making an angle ¢ with
X-axis is ;

dad ware U off & x-axis @ o 0T G461 8, IHBI @iy
5 5 |

{l} LT{_J'" ‘.'-.-_,lz [2} '[_]e!l.': -.-‘.'_:

B) -~ U (@) - Vet

18
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Short Answer Questions
Ty I FeT

Note: Attempt any five questions. Write answer in 150-200 words. Each

O1.

02.

03.

question carries 16 marks. Answer each question on separate page,
after writing Question Number.

Bl Ofg medi & S4¢ ST | U® F I9Y 150-200 v H
T | 9% 999 16 bl Fl & | Udh 999 &l I AT I 97
na i et 9% i |

If G is a finite group with O (G) = P, for some prime numb{:r.p then
prove that, the centre Z (G) # {€}. Hence show that O (G) = P* implies
that G is abelion,

e G has 3T G & @& O(G) = p, T6I p U fAHT
2 qu fqw F & Z(G) 2 e} | STNE T B ITAT FIR BN
faazd 6 afs 0 (G) = p? a1 ¢ udifemT 2

If R is a commutative ring with identity and M is an ideal of R, then
prove that M is a maximal ideal if and only if R/M is a field.

afs R Fgefeq [ & aen 38@ TH gHe UAA= & a1 M, R &
amefegs & @ fas St M ARRWe ad @ Faw asft @ FaiE
R/M &= & 4 |

2 cos30

, ; i : —df
Using the Contour integration, evaluate the integral _!: E_dcosl

17 cos3d
T A 1 YA FHIS &Y, TS | <

s T p %Y A T
" 5-4cosd
FHIToTd |

19 P.T.0
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04.

05.

06.

07.

Let X be a non-empty convex subset of IR and f, g : X - IR be
funcuons. If f 1s non-positive and convex and g is positive and convex,

i : ;
then show that “= is semi-strictly quesi convex.

i

T X U A-Taet Haed SUHe ¢ IR" &, T4 £,g: X — IR
4 wald € af [ 99 Ofafea qon $eae, aur g ditefea a s

ﬁﬁm@ﬁgm-wmm%r

(a) Describe a smooth structure on real projective plane.

i drifEed < H w1y ey S e S |

(b} Let (M,g) be an n-dimensianal para compact Riemannian manifold.
Prove that it always contains a unique metris symmetric

connection.

qET (M,g) T n-fadg fmifaaq 8dieee &) fas #ifse 5 az
BRI U fafare fifers falifes sA@ds w@dr 2|

Define a topological property. Prove that compactness 1s a topological

property.

FIgraferRe 992l &l gfeared @ifeg | fa= Fifse 5 wereeTa s
GRIGIECTle R E

Prove that a subset of IR is connected if and only if it is an intervel.

fir 5T i R &1 1% ITomgead #waes s o faw @it #
WAfE T o S ol |
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08.

09.

10.

Define a normed linear space and a Banach space. State and prove a
necessary and sufficient for a normed linear space to be a Banach
space.

smie Sifas @ @1 qur a7 | O AEeTT
T T gd o o) e WE a9l & @ e ad 39
Hifora |

If both the ends of a bar of length as are at temperature zero and the
initial temperature is to be prescribed by function f[x) in the bar.
Then find the temperature at subsequent time t.

2 oz BrEd oMl ofan B & fagell W aH e 9§ ad
Forae T a ®, qu SHET SIRFENE AT f(x) § TERES 8 | 36
g TR t 97 IEET aTIHE S i |

Describe Euler’s equation of motion for incompressible inviscus fluid.

ST & Oaaal SHETOT T a=5Er S g grel grasRd &9 F o
ST HITT |
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Question No. Page for Short Answer

g9 HEAT g I & Rw ge
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Question No. Page for Short Answer

gee HE @y I & e 7
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Question No. Page for Short Answer

q9q  HET Y SE @ fw g
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Question No. Page for Short Answer
g HE g Iog @ g gw
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Question No. Page for Short Answer

uee e qg Sed % W ge
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ROUGH WORK
TH &1
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12

s b

13
14.

st & fern fror

(39 QE&T & 949 ATa07 G5 97 747 Iov-99 & g4 got o
&ae Ai61- FTeh @lol-@ige 44 @ & o)

TR T e % 30 e % A € $F A fF e § w6l 9 HiE 8 T @0
YA 2T AET &1 gl SN T8 9 R T T T S-fAeE & G 5
T & gH R W s )
T 997§ feTeT URd NaAV- 07 & afafie, fAE @ wg w4 gor Fvre T
5 F =4l
IAT- OF 67T & Far A #1 36 7 @ 7 S 7 & faFa &30 g9 I-0F T g9 aE
FaET IA0-UF F1 & JoAIHT fHq1 TE
W SEC T I H e TUH HE-S W99 fifia e W
FAT-0F & 949 G g7 47 @ AT FIEAE Fafia @ ot fod qar e 174 a9
aT &7 &) il 7E JavaE g aul 5vA-§iEsT &1 HWE agT §2 & T@ 3aq @
o7 e
wto o Mo UF T ITFHUIF GGHI, NIAYRAST HEAT § W WG (AT FIF &) a4l
TYIGIEHT T SIS A Ao UHo 3To GF T &1 NfAEG! # IliciE & HTAMT
T8 £
I gfafeat & F1¢ o aftads s fiae g FHI0a g7 aned HAEAT I8 T I
HIgT &1 FET "7 A
v - qfere § wetE 79T & G dFtaw It 23 md 31 wew 9y & defedd 39T & oy
HTqET IT-UF & gEEy gfEr & a2 78 39 &1 I9-09 & 99 g o7 54 T
v & arqame 47 & e &1 B
THE TR ¥ I % (AT FAE TS @ 99 F T U 7 g9 S T
7 S9E] UF g4k FYUl R W Eg I e FE S
77 & & U AT @E) g7 HiEa 6T 26 9§17 gear #1 IfT 9 [HE 09T &7 I
T8} &7 =rER &, 1 |araa gfew & ared (22 73 w9yt gt & @ gig 21 8d 5vHl 07 JH
3w 134 /g
5 F & AT gvA- (R & Ty & et A I8 T o ge & 6 73
T TET w
T ¥ I 397 A U AT I9T-uF W 999 1 S F A
T BT 6 9 Tge TURT 999 § 9 S &1 oFAfa A e
w2 FIE, G Erar




